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INSTRUCTIONS 70 CANDIDATES:

1.
2,
3.

4.

Do not turn over this page until you are told to do so.
Follow all instructions carefully.
Answer all questions.

Use a 2B pend to shade your answers in the Optical Answer Sheet
(OAS).

The use of calculators is NOT allowed.

This booklet consists of § printed pages.
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Questions 1 to 10 carmry 1 mark each. Qusstions 11 fo 15 carry 2 marks each.
Foreach question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.
(20 marks)

BP-585

1. Whatis sixty-nine thousand and twelve in numerals?

(1) 6912
2 89012
(3 69120
(4 690042

2. Which of the following has the same value as 8400 + 607

(1)  4200+3+20
(2) 4200+6+20
(3) 8400+3+20
(4)  8400+30+20

3. Simplify the expression 72 + (12 - d)x3+6

(1) 12
) 2
(3) 60
4y 162

.4 L
4, Write 25 as a decimal.

{1y 0.016
{2) o016
(3} 0425
%) 425
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in the number 7.568, which digitis in the tenths place?

(0
@
(3)
&

W ~ O

Find the area of the shaded triangle.

L9 t_:m

(1) 18cm?
(2) 30cm?
(3) 40cm?
(4) 6750

The figure is made up of 20 identical friangles.

What percentage of the figure is shaded?

(1) 25%
(2) 20%
(3) 5%
4) 4%

A2



10.

A machjne can print 3 posters in 2 minutes.
At this rate, how many posters can it print in 18 minutes?

(1)
()
@)
)

Jamie had 200 green and yellow marbles, 40% of the marbles are green.

6
g
12
27

How many green marbies did he haye?

(1)
2}
3
(4)

40
60
80
120

A solid cubold of height 10 cm has a square bass of side 6 cm.

Find its volume.
10 cm
6.cm
(1) 80em?
(2} 240cm?
(3) 360cm3
(4) 600cm?

BP-587




11.

12.

In the figure, AOG and BOD are siraight lines.

Find 2ODC.
(1) 46°
(2) 59°
(3) 62°
(4) 75°

The figure below is formed by cutting a rectangle from a square.
Find the perimeter of the figure.

25cm

(1) 52cm
(2) 58cm
(3) 123cm
(4) 130cm

A4
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13.

14.

There were 21.boys in Primary 5 Integrity. The number of boys were 7 miord than
the number of girls. Find the ratio of the number of girls to the total number of
pupils in Primary. 5 integrity.

(1)

2y

3

@)

2:3
2:5
4:3
4:7

In the number line, what is likely to. be the valus of A when rounded to the niearest 2
decimal places?

(1)
)
)
()

7.48
7.49
7.62
7.63

A-5
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15.  Each of the puplls in & Kindness voted one activity as their favourite hobby.

The bar graph below shows the result.

4 Favourite Hobby of Pupils in 5 Kindness

-

Number
of pupils |
Reading Playing games Playing sports  Listening to music
®Boys QGirs

Which of the following statements is true?

(1)  Half of the boys in the class like reading.

(2)  Thereis an equal number of boys and girls in the class.

(3)  The most popular hobby for the class is playing games.

(4)  Anequal number of pupils in the class like playing sports and listening to

music.

\ Remember to check your world
~ End of Booklet A ~
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INSTRUCTIONS TO CANDIDATES:

1. Do not turn over this page until you are told tb do so.
2. Follow all instructions carefully.

3. Answer all questions.

4. ‘Write all your answers in this booklét.

5. The use of calculators is NOT allowed.

This booklet consists of 8 printed pages.
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answars inthe units stated. (5 marks)

1 2
16.  Find the value of -3= + -

Ans:

=R

17.  Findthe value of — X

dl

Ans:

18.  Fndthe value of 7 + 35, Glve your answer as a fraction in the simplest form.

Ans:

B-1 : 3

BP-593




19.

20.

Find the value of 30.3 X 300

In triangle ACD, where the base is AD, its corresponding height is

UUG-——-——-——--—----- >

/2

BP-~594
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Questions 21 to 30 cany 2 marks each. Show your working clearly in the space below each
question and-write your answers in the spaces provided.

For questions which require units, give your answers in the units stated. (20 marks)

21, Thé mass of the-bag of rica s measured using the scale.
" What is the mass of the bag of rice?

Wi A 0

! Rice |\

{a)  in kilograms?

Ans: (a) . kg

(b) i grams?

Ans: (b) _ g




22 The table below shows the temperatures of cities W, X, Y and Z.

(@)

(b)

Lowest Temperature Highest.Temperat'ure
City Q) (°C}
W 9 16
X 15 32
o 18 33
Z 4 24

When Albert was at some of these cities, the temperature was 10°C.

Name the cities.

Ans: (a)

Name the city with the smallest difference in temperatures.

Find its difference.

B-4

Ans: {b) .

°C

12
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23, In the figure below.

(8  Namethe smallest angle.

Ans: (a) £
{b)  Namethetwo angles that are greater than. 90°.
Ans: (b) £ and £ ___
24:  Write down the first 2 common muitiples of 6:and 9,
Ans: and

25.  Peiling finished reading a storybook with 256 pagesin 8 days.
What was the average number of pages she read each day?

Ans:




26. Fournumbers are given below. Which is the largest? Which is the smallest?

i‘21“ 2
‘Bt

2.18 2.108§

avi b

Ans: Largest:

Smallest: _-

27.  Singapore Airiines flight SQ 5870 took off from Singapore at 23 25 and landed in
Beijing at 05 30 the next day.
What was the flight duration? Express the answer in hours and minutes.

Ans: h

min

fa
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28.  Inthe figure below, what is the least number of additional squares that must be
shaded to make AB aline of symmetry?

Ans:

29.  Afarmer packed 56 apples into bags and 72 pears into boxes.
Each bag contained the same number of apples and each box contzined the same
number of pears, with na fruits left over.
He used an equal number of bags-and boxes for both fruits,
What was the least possible number of apples in each bag?

/4

B-7




30.

The table below shows the parking charges in a mall.

Mrs Chan paid $6.70 for her parking fees on a weekday moming.

What was the longest possible duration she had parked in the mall?

Days TRates

Weekdays (Monday to Friday) $3.30 for the first 2 hours;

12 a.m. — 5 p.m. $0.80 per 30 minutes or part thereof
Weekdays (Monday to Friday) $2.25 per entry

5pm.—12am.

Weekends {Saturday and Sunday)

$2.25 for the first 2 hours;
$1.20 per hour or part thereof

Ans:

/2

~ End of Booklet B ~

B-8
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Maha Bodhi School
2024 End-of-Year Examination
Primary 5
Mathematics
Paper 2

Name:_ )

Class : Primary 5

Date : 22 October 2024

Time: 1 h 30 min

INSTRUCTIONS TO CANDIDATES:

1. Do not turn over this page uniil you are told to do so.
2. Follow all instructions carefufly.
3. Answer all questions.
4. Write your answers in this booklet.
5. The use of an approved calculator is allowed.
Paper Booklet Marks Obtained Max Marks
A 20
1
B 25
5 . 55
Total 100
Parent’s signature:

This bookiet consists of 16 printed pages.
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Questipns 1to 5 carry 2 marks each. Show yoir worklng cleary in the space provided
for each question and write your answers i the spaces provided. For questions which
require units, give your answers in the uniis stated. (10 marks)

1. Mr Tan and his wife went to the movies and both of them are above 65 years old.

Usual Price =$12.50

How much did they pay for the movie tickets aitogether?

Ans: $

2. The number of people visiting the zo0 in a year is 1 380 000 when rounded fo the
nearest-thousand.

What is the largest possible number of people visiting the zoo?

Ans;




Sue had a bottle of cooking cil. She used an equal amount of ol each day.
At the end of the 27 day, she had 1240 mi of oil left.

Atthe end of the 4% day, she had.1.09 ¢ of of left.

How wriuch ofl did Sue usé each day? Leave your answer In mi..

Ans: , _ mi

A pail with a capacity of 12 ¢ was filled 1o the brim with paint.
Caleb transferred the paint from the pail into some containers.
Each contairier could hokd 400 ml of paint.
in the end, 2 ¢ of paint was left in the pail.

How many containers did he use?

Container

Ans:

f4
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The table below shows the overseas postage rate.

Mrs Chan sent a.set of cards weighing 260 g to her friend in Malaysia.
How much did she pay forsending the cards?

Destination ‘ Mass Wei_ghing upto | Postage
. | 209 | $080 |
509 $1.00
Malaysia and Brunei 1009 T $150
For every additionai $1.20
100 g or part thereof
Ans:$

12
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For questioris 6 to.17, shiow your working clearly in the space provided for each question
and write your answers. in the spaces provided. The number of marks available is shown
in brackets [ ] atthe end of each question or part-question. (45 marks)

6.  Alistairand Bevan had stickers in the rafio 13 : 3.
Both of them had a total of 272 stickers.

() How many stickers did Bevan have?

Ans: (a) [2]

(b) Edwin had 3 times as many stickers as Bevan.
How many stickers did Edwin have?

Ans: (b) [1]

BP~606
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7. The square grid shows the positions of 8 points,

£ ” N
H@— —e-— i
F
9
G

{(a)  Fiil in the blanks with North, South, East or West,

Ans:{a) Bis___ ofAand __ of E. i)
(b)  Faris stood at one of the points facing B. _

After he tmed 90° clockwise, he faced Point C.

Which point was Faris at?

Ans:(b)Point_____ [1]

(c)  Meiling weas standing at Point E facing Point D. She tumed 135% in an
anti-clockwise direction.
Which point was Meiling facing in the end?

Ans: (c) Point__ [1]

/3
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3 2 _
Sandy spent 7 of her money and Kevin spent 5 of his money.

Afterthat, they had the same amount of money left.
The fotal aniount of money left was $180.
How much did they have altogether at first?

Ans: 3]




Mr Sunil's satary was $4250,

He doriated part of ft-io Charity A and Charity B-in the rafio of 4 : 1.

The amount he donated to Charity A was $340.

(a)

(b)

How much did he donate fo both charitics?

Ans: (a)

1]

Find the percentaige of Mt Sunil's salary that was donated to both charities.

Ans: {b)

2]

/3
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10.

The table shows the prices of tickets for a concert.

Type Price Per Ticket
Adutt $23
Child $15

The number of adult tickets sold was 6 times as many as the number of child

tickets sold.

Afotal of $20 196 was collected from the sale of tickets.
How much was collected fram the sale of the adult tickets?

Ans:

14]

/4
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E4R

Miss Lim bought some identical notebooks from the bookshop.

For every 4 notebooks bought, shs received the 5 iotsbook free.
Each riotebook cost $2.45.

She gave the cashicr $65 and recaived a change of $3.75.

How many notebooks did Miss Lim get from the bookshop altogether?

Ans: ___ [4}

BP-611




12, inthe figure, ABG and ADE are identical equilateral triangles.
- ZAHE is a right angle.
G and F are points on line BC.
£BAF = ZCAF.

(@) Find ZCAF.

Ans: {a) ' [1}

(b) Find ZFGD.

Ans: {b) {3}

10

/4
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13.

Mark received: 2 Bs and 2 Cs In a public spsaking competition.
His.average score wss 74.

Based on the table below, what was the lowest possible score he received for

Delivery?
Grades
35 and above A
70-84 B
50-68 C
Below 59 D
Content Audience Body Delivery
Engagement Language
Scores 68 T ? - 7
Ans: 4]
i1

/4
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14.  Ansonhas a friangular piece of paper ABC, with AB = BC, ZABC = 38° and
ZDEC=34°
ADC and BEC are straight fines.
He folded the piece of paper along the line DE as shown.

Before folding:

After folding
(@) Find Zx.
Ans:(a)___ 2]
() Find £y.
Ans: {b) i1

12
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15. A rectangular piece of wood had a breadth measuring 112 e,
it'was cittinto 7 smalfer identical rectangles as shown.
Find the area of the piece of wood before it was cut.

1zem

B S S,

Ans: 4

13

re




16.  Studythe pattern carefully.

Figure 1 Figure 2 Figure 3 Figure 4
= &, Bk
| B -
By
Figure 1 3
 White Squares 3 \
Grey Squares 1 & 16
(a) How many white squares are there in Figure 57
Ans: (a) (1]
(b)  In which figure will there be 101 white squares?
Ans: {b) [2]
(c)  In which figure will there be 256 grey squares?
Ans: {c) [2}

14

/5
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17.

Ani saves % of her salary ‘every month,

I December, she saved $50 more than what she usually saves,
With the femaining monsy, she spent -;— of it on a pair of shoes,
$40 on transport and $200 on food.

How much did she save in December?

Ans;

2

/5

15
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SUBJECT
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PAPER 1
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PRIMARY 5
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SA2

Q1

Q2

Q3 Q4 Q5 Q6 Q7

Q8

2

3

Q9

Q10

Q11 lQ12 |13 [Q14 |Q15

3

BOOKLET B

Q16

11
15

Q17

5

12

Q18

1

5

Q19

8090

Q20

EC

Q21 (a)

4.4

[Q21 (b)

4400

Q22 (a)

WandZ

Q22 (b)

W, 7

Q23 (a)

e

Q23 (b)

aand d

Q24

18 and 36
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Q25 32
026 Largest: 2-%—
Smallest: 2.108
Q27 gh 5 min
Q28 5 squares
Q2% 7
Q30 3.5h
PAPER 2
Q1 100% — $12.50
10% — $12.50 +10 = $1.25
80% — $10
$10x 2 = $20
Q2 1380499
Q3 1240 - 1090 = 150
150 + 2 = 75mi
Q4 12-2=10
10L = 10000ml
10000 +~ 400 = 25
Q5 $1.50 + $1-.20_+ $1.20 = $3.90
Q6 (a) |16u— 272
u— 272 =16 =17
3u — 51
Q6 (b) |51x3=153
Q7 (a) |East, North
Q7 (b) |D
Q7 (c) {H
Q8 12u — $180

1y — $180 + 12 =$15

BP~620



131u — $465
Q9 (a) [4u— $340
tu— $340 + 4 = $85
SU — $85 x 5 = $425
Q9 (b) |[100% — $4250
1% — $4250 + 100 = $42.50
10% — $42.50 x 10 = $425
Q10 $23x6=%138
$138 + $15 = $153
$20196 +~ $153 = 132
132x6 =792
792 x $23 = $18216
Q11 $65 - $3.75 = $61.25
5 notebooks — $2.45x 4 = $9.80
$61.25 + $9.80 = 6R$2.45
1 notebook — $2.45
6x5=30
30 +1=31
Q12 (a) | £CAB = ZABC = ZBCA
ZCAB — 180° + 3 =60°
' ZABC = £ZBCA =60°
ZCAF — 60° +2 =30°
Q12 (b) | £GFD — 180°-90° = 90° |
ZFGD - 180° - 30° - 80° = 60°
Qi3 |74x4=208
296 -69 - 80 = 148
148 - 84 = 64
Q14 (a) | LCAB= ZACB
ZCAB — (180°-38°) +2 = 71°
£LACB — 71°
Ax_—+ 180° - 71°-34° = 75°
Q14 (b) | Ly — 180° - 34° -34° =112°
Q15 M2+7=18
16 x 10 = 160

160 x 112 = 17920

BP-~621




Q16 (a)

5+6=11

Q16 (b)

101 =50 + 51
Figure 50

Q16 (c)

256 =16 x 16

Q17

4u — $240

1u — $240 + 4 = $60

5u — $60 x 5 = $300

5 parts of salary — $300 + $50 = $350
1 parts of salary — $350 + 5 = $70

6 parts of salary — $70 x 6 = $420
$420 + $50 = $470

‘BP~622



